	
	
	
	
	

	
	(1)
Students

b/se

	(2)
University teachers
b/se
	(3)
Total

b/se
	(4)
Total

b/se

	Utility (U)

	.469***
	.383***
	.449***
	.383***

	
	(.052)
	(.071)
	(.043)
	(.086)

	Internalized Norm (N)

	-.842***
	-.497***
	-.756***
	-.497***

	
	(.045)
	(.061)
	(.037)
	(.075)

	U*N

	-.256***
	-.363***
	-.284***
	-.363***

	
	(.051)
	(.070)
	(.043)
	(.086)

	Students (=1; Teachers=0)
	
	
	.575***
	.531***

	
	
	
	(.070)
	(.087)

	Students*U
	
	
	
	.087

	
	
	
	
	(.100)

	Students*N

	
	
	
	-.345***

	
	
	
	
	(.086)

	Students*U*N

	
	
	
	.106

	
	
	
	
	(.099)

	Constant

	1.122***
	.591***
	.558***
	.591***

	
	(.046)
	(.062)
	(.065)
	(.075)

	R-squared
Respondents
	.205
	.187
	.209
	.212

	
	3209
	1064
	4273
	4273
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